SECTION - 3 : (Maximum Marks : 16)

This section contains TWO questions

Each question contains two columns, Column I and Column 11
Column I has four entries (A),(B), (C) and (D)

Column II has four entries (P),(Q), (R) and (S)

Match the entries in Column I with the entries in Column II

One or more entries in Column I may match with one or more\eniries in Column Il
The ORS contains a 4 x 4 matrix whose layout will be'sirilar'to the one shown below :

(A)
®
(C)+
©y J [P [Q] [R] [©)]

For each entif inColumn I, darken the bubbles of il the matching entries. For example, if entry

(A) i~Calumn I matches with entries (P), (Q) and (R), then darken these three bubbles in the
ORS.'Similarly, for entries (B), (C) and (D).

Marking scheme -
For each entry in Column I

+2 If only the bubble(s) corresponding to all the correct match(es) is (are) darkened
0 If none of the bubbles is darkened
=1 In all other cases
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stch The column

Goll‘m"'I

he circle X2 + y? _
(A)The y2 6x_10y+C=OdOeSnt'
Olintersect

point. Exhaustive range of ‘C' jg

B) fS(2,3) &S’ (5, 1) are foci of ellipse &% W5k 4
Y+1=0

is tangent to that ellipse thef sami major axis lies i
in

(C) Parabolay = o) 2ax + a Passes through a fixed point

VaeR then fixed point is

(D) The eccentricity of the ellipse 4x* + 9y* + 8x + 36y + 4 = 0 is

Jal/b then (a, b) is (aand b coprime)

(MATHEMATICS |

Column-il

11
) (‘E'Z)

Q) (2, 4)

(R) (25, 29)

(S)(5.9)
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22,

Match The column

Column-l

(A) Number of triangles formed by 10 points in a plane of

which 4 are collinear

(B) Number of quadrilaterals formed by 10 points in a plane

of which 4 are collinear

(C) Maximum number of pgints of intersection of six circles &

3 straight.lines

_(D) Number of points of intersection of diagonals of 10 sided

Polygon which lies inside the polygon

(Q) 185

(R) 69

(S) 116
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WATHEMATICS]

EC
TION —3 : (Maximum Marks : 72)

This section Containg EIGHTEEN
Questions

The answer to ea
c i i . .
For each question hquEStlon 'S a SINGLE DIGIT INTEGER ranging from 0 to 9, both inclusive
, » darken th _
Marking schemeg - © bubble corresponding to the correct integer In the ORS

23.

24,

25.

26.

If number of -
a "
two objects lie byst‘\:f Selecting 3 objects from\25 objects placed in a straight line such that at least
e .
SN any two of thie\selected objects is N, then sum of digits of N is

Consider seven digit aumber x, X2
greatest digit and 4| digits towa
number gfsuch number in which

....... X7, Where Xy, X,........x;, #0 having the property that x, is the
rds the left and right of x, are in decreasing order. Then total
all digits are distinct is a, then find the sum of digits of a.

If | | .
ength of the latus rectum of the parabola 25 [(x - 2)? + (y - 3)%] = (3x - 4y + 7)’ is A, then 10\ is

The number of integral values of ‘a’ for which the point (-2a, a + 1) lies in the smaller region
bounded by the circle x? + y?=4 & the parabola y? = 4x is/are |
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28,

29,

30.

31.

b

l MATHEMATICS | (
J

If the pa; . e
pair of straight line Joining the origin to the intersection of the straight line y = 3x + ¢ and the

cury x? y?
STt "z = 1areatright angle to each other, then sum of all possible real values of c is

Four unit circles Pass through the origin and have their centres on the coordinafé\axes. The areq

/3

of the quadrilateral whose vertices are the points of intersection (in pairs) ofthe circles, is

Tthe curves ax* + XY +2y* +x +y+5=0and ad + @xy + 5y + 2x + 3y + 8 = 0 intersect at four

con cyclic points then ‘g + a'is
Nommal to parabola (y ~gf% 4 (x=1) at (2, 4) is drawn meets parabola again at (a, b) then a + b is

The circle lwith equation x* + y? = 1{ intersects the line y = 7x + 5 at two distinct points A and B,

an

—

Let C be the point at which the positive x-axis intersects the circle. The angle ACB is

(aand b coprime) then a + b =
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33,

34.

——rrrr v

A variab| i = i
able circle ¢ has the equation x2 + y* — 2 - 3t + )X - 20 + 2t)y + 1 =0, where t is a

parameter, | .
f the Power of Point P(a,b) w.r.t. the circle C is constant then the valueofa+ b is

x—-12 =0 and

A rhompys ;
Sis j ; . 2
neeribed in the region common to the two circles Xy -4

2
X"+ y? 4 4y
- 12 =0 5 f
With two of it vertices on the line joining the centres of the gircles: The area

of the rhomp i
Ous is kV3 . then value of k is

to be p) :
Placed in boxes of the figure gUh\that each row contains at least one 'X'. If the

number of yis
erent w . .
AYS in which this cah be tone is a two digit number ba then a—b =

L

Number of wa : .
¥s of selecting 5 coins from unlimited number of coins of each of ¥1, Y2 and T5

coi . . :
(coins of the same denomiation are alike), is k then greatest prime divisor of k is
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36,

37.

38,

33,

40.

) then the eccentricity of the

i | §
5:12) and (24, 7) are the focii of an ellipse passing through ©

conic i A . _ value of k'is
\/; (A and y coprime). If JaL—p= ky2 . thep

Number of real normals to they! = 4x = 0 passing through (3,4) lstare=

‘ onisy = X i , then value of
Length of|chierd of parabola (y - 2)* = 4 (x + 1) whose equation is y = X IS A2

2.-7is
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